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QUESTION 1

Which value does an HPE Nimble solution provide in addition to other HPE storage solutions?
A. All inclusive software licensing over 5 years and additional capacity upgrades

B. Upfront option for free controller upgrade after 3 years

C. Flat support pricing for all hardware components

D. Tier 1 and tier 2 phone support

Correct Answer: D

QUESTION 2

You are planning a single-site Nimble solution with iSCSI connectivity. Two 10GbE SFP+ dual port NICS are included in
the configuration. You designed an intelligent Resilient Framework (IRF) stack with HPE FlexFabric 5900CP switches.
Which statements is correct when discussing the IRF limits for this configuration?

A. When connecting an iSCSI storage to an IRF stack, a minimum of four 10GbE ports must be used per switch.

B. A maximum of two switches can be used in an IRF stack when connecting storage.

C. In an IRF stack with storage connectivity, the 40GbE ports cannot be used.

D. The used IRF ports for iSCSI traffic have to be configured as 10GbE converged ports.

Correct Answer: B

QUESTION 3

An HPE 3PAR StoreServ customer with FC, SSD and NL, drives is facing extreme latency during peak business hours
with an OLTP application. They have enabled tiering using all drive types. What could be used to resolve the issue?

A. Dynamic Optimization using tier 2

B. Adaptive Optimization using tier 1

C. Dynamic Optimization between tier O and tier 1
D. Dynamic Optimization using tier 1

Correct Answer: C

During a peak period when performance is critical, the VV can be optimized by moving to faster disk and the RAID
level.

QUESTION 4
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Which statement describes HPE StoreVirtual Network RAID functionality?

A. Redundancy is managed on a per-volume basis.

B. With Network RAID 10+2 data is striped and mirrored across two or more storage systems.
C. Network RAID 10 requires an even number of storage nodes.

D. Volumes remain available if an odd nhumber of nodes are available.

Correct Answer: A

Redundancy is managed on a per volume basis to improve storage utilization and to remove any simgle point of failure.

QUESTION 5

A customer is evaluating an HPE 3PAR StoreServ system in a proof-of-concept project. The customer wants to receive
emails about important storage system events and alerts. What feature do you need to configure?

A. HPE OneView integration
B. Secure Service Agent

C. Real-time Alert Processing
D. Local Notification Service

Correct Answer: D
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